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QUADSTAT STATISTICS
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Mean
17.0
15.2
0.294
9.162
8.45
6.65
0.343
8.174
18.2
13.9
19.313
0.175
i6.7
12.8
B.278
0.173

CRCRC

Y Charnnel....
SD cu
1.2 ER.2
10.1 66.2
8.186 B63.2
8,095 58.3
4,36 51.6
4,55 68.4
8.218 63.7
8.105 ©60.5
16.0 - 6B2.8
9.96 Ti1.8
p.202 64.5
8.106 €60.9
12.9 77.1
11.8 86.1
8.174 62.7T
2.185 B0.4

Y Charnnel....

Mean SD cuv
25.9 12.4 47.8
19.4 14.8 T76.3
p.342 08.182 53.2
8.157 ©.0890 ©57.3
15.5 T.72 E0.80
11.5 8.46 T73.5
0,382 B.186 B2.9
8.154 ©0.084 54.7

25.5 11.8 46.5
i8.0 14.5 80.8
9.348 0.187 B3.8
B.158 ©6.090 56.9
25. 4 13.06 S1.1
19.1 15.1 78.9
9.339 0.183 53.8
9.160 ©0.092 57.8

S
Mean
18.9
14.86

6.6 0.296
6.2 ©.154

8.82
T.26

T3.1 9.340
Ti.2 ©.158

16.9
11.85

88.1 0.157

17.6
12.2

T4.7 ©.309
81.5 8.153

ID Pent Area Position Height Mean SD cu
Al 24.8 2484 e.1l9, i8 46 9.324 8.220 67.8
A2 i.8 184 TeTy 24 5 12.6 9.98 T9.1
A3 44.1 44085 0.37,0.37 53 0.451 0.320 T1.09
A4 28.3 2927 43,0.10 227 25.4 26.4 88.5
B1 28.7 2874 8.37, 6.6 44 0.383 0.220 57.4
B2 1.9 194 4.3, i2 4 8.97 T.51 75.3
B3 41.1 4114 8.37,0.32 489 ©.526 8.372 7TB.7
B4 28.2 2818 28,0.10 188 22.1 16.5 T4.7
Ci 286.4 2635 .58, 18 55 ©.350 0.226 64,4
cz 1.7 174 1z, 14 5 i2.1 9.89 82.80
C3 41.5 4153 8.37,0.43 47 8.478 ©.334 69.8
C4 30.4 3038 37,0.10 191 23.7T 18.4 77.6
D1 16.9 1688 8.37, 24 28 8.337 8.231 68.7
D2 1.4 143 21, i8 4 14.89 i=2.0 85.7
D3 60.4 6041 0.43,0.189 94 0.406 ©.263 64.7
D4 21.3 2128 ’ 43,0.10 150 26.0 20.6 T79.3
3 =
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ID Pcnt Area Position Height Mean SD cu
Al 48.2 2409 .19, 32 57 0.280 p.1880 64.3
A2 3.4 i72 21, 16 B 12.7 13.1 183.2
A3 14.86 730 8.37,0.37 15 ©.444 ©.226 58.9
A4 33.8 16889 50,0.10 179 34.8 29.8 85.7
B1 48.3 2417 8.43, 16 57 ©8.365 06,187 54.0
B2 2.9 146 19, 21 ) 9.97 8.77T 68.89
B3 17.5 876 0.28,0.32 18 0.418 p.191 45.7
B4 31.2 1561 43,0.10 154 33.9 21.8 ©66.2
Cc1 47.3 2366 e.19, 28 49 0.284 9.184 ©64.6
ca2 3.2 i62 5.0, 37 4 12.3 i2.2 S8.8
C3 16.90 801 0.43,0.43 21 8.426 ©.198 46.5
c4 33.4 185l 58,06.10 i80 34.6 28.5 82.4
D1 46.8 2342 9.19, 32 69 0.281 0.184 ©65.7
D2 3.7 185 21, is 4 i2.1 12.1 1e8.4
D3 14.2 Te9 9.37,0.37 15 0.426 p.282 47.3
D4 35.3 1764 50,0.10 191 33.1 3.3 91.85
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csssesPeakiceee., see e X Channel....
Pent Area Position Height Mean sD cv
39.6 3859 0.189, 32 83 ©.332 B8.267 80.4
2.6 259 21, 32 5 16.3 13.2 89.8
34.2 3422 0.43, 0,24 36 ©.591 8.453
23.6 2368 58,0.10 214 37.5 28.86
44.9 4397 8.59, 14 69 ©0.463 0,360 TT7.7T
3.0 3682 6.6, 3.2 7 11.8 8.79 82.9
34.6 3455 0.43,0.37 35 ©.663 98.485
18.5 1846 37,0.10 178 30.9 22.0
38.9 3887 .19, 28 68 ©8.361 8.3865 B84.4
3.0 302 21, i8 6 16.5 14.4 87.8
36.9 3686 8.37,0.37 35 ©8.687 ©0.456 '75.1 9.319
21.3 2125 59,0.10 228 34.8 27.9
3a8.5 3854 .10, 32 68 ©.363 0.383 83.5
3.4 344 6.6, 37 5 i1s.2 13.7 99.6
36.3 3627 8.37,0.43 35 68.624 B.466
21.8 2175 50,0.10 2838 35.8 28.5
X Intercept = 4.3, Y Intercept = 1.2 A
X Intercept = 4.3, Y Intercept = 1.2 B
X Intercept = 4.3, Y Intercept = 1.2 C
X Intercept = 4.3, Y Intercept = 1.2 D

Channel. ...
SD cu
16.7 88.7
13.7 94.90
8.179 60,5
0.0884 54.3
8.58 87.4
6.59 98.8
0.2064 60,1
6.689 56.6
16.1 95.0
i2.6 189.86
9.194 62.5
0.890 57.8
16.5 83.7
12.8 104.3
8,193 62.4
9.885 B5.85
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